
1)  How is one hundred million, two hundred seventy-one thousand, eight written in numbers?  Red C





A.  100,271,008


B.  100,271,8


C.  100,271,800


D.  100,217,008





7)  A ferris wheel can hold 928 people.  It costs $12 for each person to ride.  How much money can be made in one full ride?  Orange B





A.  $940





B.  $9,000





C.  $2,784





D.  $11,136





ANSWERS





1)  





2)  





3)  





4)  





5)  





6)  





7)





8)  





2)  Which solution shows the numbers in order from greatest to least?  Gold A








F.  8.02,  8.04,  8.24,   8.42


G.  8.42,  8.04,  8.24,   8.02


H.  8.42,  8.24,  8.04,   8.02


J.   8.04,   8.42,  8.24,   8.02





3)  What is the GCF (greatest common factor) of  9 and 18?  Cherry C





A.  1


B.  9


C.  18


D.  6





4)  Which fraction is greater than    ?  Green A





F.  


G.  


H.  


J.  





5)  What is the area of the shape?  Pink C





	


144 sq. cm


12 sq. cm


48 sq. cm


24 sq. cm





























6)     


                  ton =  ____ lb








500 lb


1000 lb


half a pound


8 lb








8.04,   8.24,   8.02,   8.42











8)  A diner sold 154 specials.  Each special costs $5.  What is the best estimate of the amount paid for specials?  Yellow C





F.  $750


G. $1,600


H.  $175


J.   $2,000
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